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2 = 46, 064 47,124 -1, 060 -2.2 47,326 47, 607 -281 -0.6 -1, 262 -483
i & & 2,218 2,253 -35 -1.6 2,177 2,196 -19 -0.9 4 57
F F & 3,220 3,076 144 4.7 2,214 2,021 193 9.5 1,006 1,055
A F B 4,656 4,633 23 0.5 3,546 3,484 62 1.8 1,110 1,149
T B R - - - - - - - - - -
o H =3 2,461 2, 600 -139 -5.3 1, 659 1,737 -18 -4.5 802 863
w B 3,594 3,722 -128 -3.4 2,720 2,834 -114 -4.0 874 888
] 1=} =3 5,076 4,931 145 2.9 3,912 4,118 -206 -5.0 1,164 813
*x W B 851 884 -33 -3.7 929 897 32 3.6 -18 -13
m K B 830 915 -85 -9.3 930 917 13 1.4 -100 -2
i = =3 411 473 -62 -13.1 452 471 -19 -4.0 -41 2
B £ B 2, 146 2,848 -102 -3.6 3,499 3,557 -58 -1.6 =753 =709
+ B =3 2,221 2,349 -128 -5.4 3,17 3,125 46 1.5 -950 =176
B R # 6, 228 6, 354 -126 2.0 9,058 9,028 30 0.3 -2, 830 -2,674
M=) R 3,196 3,320 -124 -3.7 4,020 4,239 -219 -5.2 -824 -919
H B B 781 806 -25 -3.1 669 690 =21 -3.0 112 116
E W & 163 159 4 2.5 138 159 =21 -13.2 25 0
i = 199 226 =27 -11.9 269 185 84 45.4 =10 41
Bm H B 50 54 -4 -1.4 76 57 19 33.3 -26 -3
1n] L [ 168 151 17 11.3 191 193 -2 -1.0 -23 -42
E B B 342 253 89 35.2 309 335 -26 -1.8 33 -82
I B =3 144 170 -26 -15.3 102 139 =37 -26.6 42 31
B om B 705 765 -60 -1.8 719 657 62 9.4 -14 108
ZE M B 1,087 1,129 -42 -3.7 1,311 1,384 -13 -5.3 -224 -255
= 2 [ 187 203 -16 -1.9 196 210 -14 -6.7 -9 -1
# B OB 142 148 -6 -4.1 157 154 3 1.9 -15 -6
" O R 327 283 44 15.5 319 333 -14 -4.2 8 -50
X B R 994 1,043 -49 -4.7 1,182 1,132 50 4.4 -188 -89
E E & 548 559 -1 -2.0 569 560 9 1.6 =21 -1
= B B 109 153 -44 -28.8 126 136 -10 -1.4 -17 17
M TR 54 64 -10 -15.6 76 50 26 52.0 -22 14
E W B 38 73 -35 -47.9 51 4 10 24.4 -13 32
5 #® B 43 42 1 2.4 35 61 -26 -42.6 8 -19
5| 1w =3 167 169 -2 -1.2 148 161 -13 -8.1 19 8
E B & 319 321 -2 -0.6 370 336 34 10.1 =51 -15
i} m] 2 80 74 6 8.1 86 115 -29 -25.2 -6 -41
m B B 41 34 1 20.6 29 31 -2 -6.5 12 3
EF 2 83 109 -26 -23.9 74 98 -24 -24.5 9 1
Z B 2 95 122 =21 -22. 1 103 102 1 1.0 -8 20
= M & 41 53 -12 -22.6 48 57 -9 -15.8 -7 -4
1= &l =3 643 704 -61 -8.7 760 744 16 2.2 -117 -40
r® B B 48 50 -2 -4.0 40 57 =17 -29.8 8 -7
E B & 84 98 -14 -14.3 115 61 54 88.5 =31 37
B X B 145 136 9 6.6 161 166 -5 -3.0 -16 -30
X 4 B 60 14 -14 -18.9 86 77 9 1.7 -26 -3
= ] =3 158 147 1 1.5 115 137 =22 -16.1 43 10
BE R B R 110 126 -16 -12.7 95 113 -18 -15.9 15 13
H i =3 201 268 -67 -25.0 314 252 62 24.6 -113 16




